S- ITERATION PROCESS FOR CONVERGENCE OF TWO ASYMPTOTICALLY NON-EXPANSIVE MAPPING IN CAT (0) SPACE

Sanchita Pandey *, Anil Rajput ** and Abha Tenguria *** * Research scholar, Govt. PG College, Sehore ** Department of mathematics, CSA Govt. PG College, Nodal Sehore *** Department of mathematics, Govt. M.L.B college, Bhopal

Abstract

In this paper we establish some strong convergence theorem for two asymptotically non expansive mapping by modified S-iteration process under suitable conditions.

Introduction

Fixed point theory in CAT(0) space has been first studied by Kirk (see[15, 16]). He showed that every nonexpansive (single-valued) mapping defined on a bounded closed convex subset of a complete CAT(0) space always has a fixed point. It is worth mentioning that the results in CAT (0) spaces can be applied to any CAT(k) space with $k \le 0$ since any CAT(k) space is a CAT(k') space for every $k \ge k'$ (see,e.g., [2]).

A CAT(0) space plays a fundamental role in various areas of mathematics (see Bridson and Haefliger [2], "Metric spaces of non-positive curvature"). A metric space X is a CAT(0) space if it is geodesically connected and if every geodesic triangle in X is at least as 'thin' as its comparison triangle in the Euclidean plane. It is well known that any complete, simply connected Riemannian manifold having non-positive sectional curvature is a CAT(0) space. The complex Hilbert ball with a hyperbolic metric is a CAT(0) space (see [10]). Other examples include pre-Hilbert spaces, R-trees (see [2]) and Euclidean buildings (see [3]).

Let (X, d) be a metric space. A geodesic path joining $x \in X$ to $y \in Y$ (or, more briefly, a geodesic from x to y) is a map c from a closed interval $[0, 1] \subset \mathbb{R}$ to X such that c(0) = x, c(l) = y, and let d(c(t), c(t')) = |t-t'| for all t, $t' \in [0, l]$. In particular, c is an isometry, and d(x, y) = l. The image α of c is called a geodesic (or metric) segment joining x and y.

A geodesic triangle $\Delta(x_1, x_2, x_3)$ in a geodesic metric space (X, d) consists of three points in X (the vertices of Δ) and a geodesic segment between each pair of vertices (the edges of Δ). A comparison triangle for geodesic triangle $\Delta(x_1, x_2, x_3)$ in (X, d) is a triangle $\overline{\Delta}(x_1, x_2, x_3)$:= $\Delta(\overline{x_1}, \overline{x_2}, \overline{x_3})$ in R^2 such that $d_{R^2}(\overline{x_l}, \overline{x_j}) = d(x_l, x_j)$ for $i, j, \in \{1, 2, 3\}$. Such a triangle always exists (see [2]).

Let Δ be a geodesic triangle in X, and let $\overline{\Delta} \subset R^2$ be a comparison triangle for Δ . Then Δ is said to satisfy the CAT(0) inequality if for all $x, y \in \Delta$ and all comparison points $\overline{x}, \overline{y} \in \overline{\Delta}$. $d(x, y) \leq dR^2(\overline{x}, \overline{y})$ (9) (a)

Complete CAT(0) spaces are often called Hadamard spaces (see [12]). If x, y_1 , y_2 are points of a CAT(0) space and y_0 is the mid point of the segment $[y_1, y_2]$ which we will denote by $(y_1 + y_2)/2$, then the CAT(0) inequality implies

$$d^{2}\left(x,\frac{y_{1}+y_{2}}{2}\right) \leq \frac{1}{2}d^{2}(x,y_{1}) + \frac{1}{2}d^{2}(x,y_{2}) - \frac{1}{4}d^{2}(y_{1},y_{2}).$$
 (10) (b)

The inequality (9) is the (CN) inequality of Bruhat and Tits [4]. The above inequality has been extended in [6] as

$$d^{2}(z,\alpha x \oplus (1-\alpha)y) \leq \alpha d^{2}(z,x) + (1-\alpha)d^{2}(z,y)$$

-\alpha(1-\alpha)d^{2}(x,y) (11) (c)

For any $\alpha \in [0.1]$ and $x, y, z \in X$.

Let us recall that a geodesic metric space is a CAT(0) space if and only if it satisfies the (CN) inequality (see [2, p.163]). Moreover, if X is a CAT(0) metric space and $x, y \in X$, then for any $\alpha \in [0.1]$, there exists a unique point $\alpha x \oplus (1 - \alpha)y \in [x, y]$ such that

 $d(z, \alpha x \oplus (1 - \alpha)y) \le \alpha d(z, x) + (1 - \alpha)d(z, y)$ (12) (d) for any $z \in X$ and $[x, y] = \{ \alpha x \oplus (1 - \alpha)y : \alpha \in [0.1] \}.$

A subset C of a CAT(0) space X is convex if for any $x, y \in C$, we have $[x, y] \in C$.

The well known Mann and Ishikawa iteration process are given below :

1) The Mann iteration process is defined by the sequence $\{x_n\}$, $\begin{cases}
x_1 \in K, \\
x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T x_n, \quad n \ge 1
\end{cases}$

where $\{\alpha_n\}$ is a sequence in (0,1).

2) Further the Ishikawa iteration process is defined by the sequence $\{x_n\}$,

$$\begin{cases} x_1 \in K\\ x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T y_n, \\ y_n = (1 - \beta_n)x_n + \beta_n T x_n \end{cases} \quad n \ge 1,$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are a sequence in (0,1). This iteration process reduces to the Mann iteration process when $\beta_n = 0$ for all $n \ge 1$.

3) In 2007, Agarwal, O'Regan and Sahu [1] introduced the S-iteration process in Banach space,

$$\begin{cases} x_1 \in K\\ x_{n+1} = (1 - \alpha_n)Tx_n + \alpha_nTy_n, \\ y_n = (1 - \beta_n)x_n + \beta_nTx_n \end{cases} \quad n \ge 1,$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are a sequence in (0,1). Note that (3) is independent of (2) (and hence (1)). They showed that their process independent of those of Mann and Ishikawa and converges faster than both of these (see [[1], Proposition 3.1]).

4) Schu [20], in 1991, considered the modified Mann iteration process which is a generalization of the Mann iteration process,

$$\begin{cases} x_1 \in K, \\ x_{n+1} = (1 - \alpha_n) x_n + \alpha_n T^n x_n , \quad n \ge 1 \end{cases}$$

where $\{\alpha_n\}$ is a sequence in (0,1).

5) Tan and Xu [22], in 1994, studied the modified Ishikawa iteration process which is a generalization of the Ishikawa iteration process,

$$\begin{cases} x_1 \in K\\ x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T^n y_n, \\ y_n = (1 - \beta_n)x_n + \beta_n T^n x_n \end{cases} \quad n \ge 1,$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are a sequence in (0,1). This iteration process reduces to the Mann iteration process when $\beta_n = 0$ for all $n \ge 1$.

6) In 2007, Agarwal, O'Regan and Sahu [1] introduced the modified S- iteration process in Banach space,

$$\begin{cases} x_1 \in K\\ x_{n+1} = (1 - \alpha_n)T^n x_n + \alpha_n T^n y_n, \\ y_n = (1 - \beta_n)x_n + \beta_n T^n x_n \end{cases} \quad n \ge 1,$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are a sequence in (0,1). Note that (6) is independent of (5) (and hence (4)). Also (6) reduces to (3) when $T^n = T$ for all $n \ge 1$.

Very recently, Sahin and Basarir [19] modified the iteration process (6) in a CAT(0) space as follows:

Let *K* be a nonempty closed convex subset of a complete CAT(0) space X and $T: K \to K$ be an asymptotically nonexpansive mapping with $F(T) \neq \emptyset$. Suppose that $\{x_n\}$ is a sequence generated iteratively by

7)
$$\begin{cases} x_1 \in K \\ x_{n+1} = (1 - \alpha_n) T^n x_n \oplus \alpha_n T^n y_n, \\ y_n = (1 - \beta_n) x_n \oplus \beta_n T^n x_n \end{cases} \quad n \ge 1,$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are a sequences such that $0 \le \alpha_n, \beta_n \le 1$ for all $n \ge 1$.

They studied modified S-iteration process and established some strong convergence results under some suitable conditions which generalize some results of Khan and Abbas [13].

We now further modify (7) for two mappings in a CAT(0) space as follows: Let K be a nonempty closed convex subset of a complete CAT(0) space X and $S, T: K \to K$ be two asymptotically -nonexpansive mappings with $F(S, T) = F(S) \cap F(T) \neq \emptyset$ Suppose that { x_n } is a sequence generated iteratively by

8)
$$\begin{cases} x_1 \in K \\ x_{n+1} = (1 - \alpha_n)T^n x_n \bigoplus \alpha_n S^n y_n, \\ y_n = (1 - \beta_n)x_n \bigoplus \beta_n T^n x_n \end{cases} \quad n \ge 1,$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are a sequences such that $0 \le \alpha_n, \beta_n \le 1$ for all $n \ge 1$.

If we take S = T, then (8) reduces to (7). Recently, Nanjaras and Panyanak [17] proved a Δ -convergence theorem of the Krasnosel'skii-Mann iterations for asymptotically nonexpansive mappings in CAT(0) spaces.

In this paper, motivated by the above results, we prove strong convergence theorems of the S modified iterative schemes for asymptotically nonexpansive mappings in the CAT(0) space setting.

We will try to establish some strong convergence results under some suitable conditions for two asymptotically non expansive mapping by modified S-iteration process (8)

2. Preliminaries and Lemmas

This class of asymptotically nonexpansive mappings was to introduced by Goebel and Kirk[9] . He proved that if K is a non empty bounded closed convex subset of a real uniformly convex Banach space and T is an asymptotically nonexpansive self-mapping of K, then T has a fixed point. Chidume et al.[5] further generalized the class of asymptotically nonexpansive mappin- gs introduced by Goebel and Kirk [9], and proposed the concept of nonself asymptotically nonexpansive mapping The iterative approximation problem for asymptotically nonexpansive mapping and asymptotically nonexpansive type mapping were studied by many authors (see, e.g.[, 14, 20, 28) in a Banach space and a CAT(0) space.

Definition 2.1. Let (X, d) be a metric space and K be its subset. Then $T: K \to K$ is said to be nonexpansive if $d(T_x, T_y) \le d(x, y)$ for all $x, y \in K$ and asymptotically nonexpansive if there exists a sequence $\{u_n\} \subset [0, \infty)$ with $\lim_{n\to\infty} u_n = 0$ such that $d(T^nx, T^ny) \le (1 + u_n)d(x, y)$ for all, $y, x \in K$ and $n \ge 1$

We need the following useful lemmas to prove our main results in this paper. Lemma 2.1. (See [18]) Let X be a CAT(0) space.

(i) For $x, y \in X$ and $t \in [0,1]$, their exists a unique point $z \in [x, y]$ such that d(x, z) = t d(x, y) and d(x, z) = d(y, z) = (1-t) d(x, y). (A) We use the notation $(1 - t)x \oplus ty$ for the unique point z satisfying (A).

(ii) For
$$x, y \in X$$
 and $t \in [0,1]$, we have
 $d((1-t)x \oplus ty, z) \leq (1-t)d(x, z) + td(y, z)$.
Lemma 2.2. (See [21]) Let, $\{a_n\}, \{b_n\}$ and $\{\delta_n\}$ be sequences of nonnegative
real numbers satisfying the inequality.



$$a_{n+1} \leq (1+\delta_n) a_n + b_n$$
, $n \geq 1$

If $\sum_{n=1}^{\infty} \delta_n < \infty$ and $\sum_{n=1}^{\infty} b_n < \infty$, then $\lim_{n \to \infty} a_n$ exists. In particular, if $\{a_n\}$ has a subsequence converging to zero, then then $\lim_{n \to \infty} a_n = 0$.

MAIN RESULTS

In this section, we establish some strong convergence results of newly defined modified Siteration scheme (8) to converge to common fixed point for two asymptotically nonexpansive mappings in the setting of CAT(0) space.

Theorem 3.1. Let *K* be a nonempty closed convex subset of a complete CAT(0) space *X* and let *S*, *T*: *K* \rightarrow *K* be two uniformly asymptotically nonexpansive mappings with sequence $\{u_n\} \subset [0, \infty)$ such that $\sum_{n=1}^{\infty} u_n < \infty$. Suppose that $F(S, T) \neq \emptyset$. Let $\{x_n\}$ be defined by the iteration process (8).If $\liminf_{n \to \infty} d(x_n, F(S, T)) = 0$ or $\limsup_{n \to \infty} d(x_n, F(S, T)) = 0$ where $d(x, F(S, T)) = \inf_{p \in F(S,T)} d(x, p)$, then the sequence $\{x_n\}$ converges strongly to a point in F(S, T).

Proof. Let $p \in F(S,T)$. From (8) and Lemma 2.1(ii), we have

$$d(y_{n}, p) = d((1 - \beta_{n})x_{n} \oplus \beta_{n}T^{n}x_{n}, p) \leq (1 - \beta_{n})d(x_{n}, p) + \beta_{n}d(T^{n}x_{n}, p) \leq (1 - \beta_{n})d(x_{n}, p) + \beta_{n}((1 + u_{n})d(x_{n}, p)) \leq (1 + u_{n})d(x_{n}, p)$$
(9)

Again using (7), (d) and Lemma 2.1(ii), we have

$$d(x_{n+1}, p) = d((1 - \alpha_n)T^n x_n \oplus \alpha_n S^n y_n, p) \leq (1 - \alpha_n) d(T^n x_n, p) + \alpha_n d(s^n y_n, p) \leq (1 - \alpha_n)\{(1 + u_n)d(x_n, p)\} + \alpha_n\{(1 + u_n)d(x_n, p)\} \leq (1 - \alpha_n)(1 + u_n)d(x_n, p) + \alpha_n(1 + u_n)(1 + u_n)d(x_n, p) \leq (1 + u_n)^2 d(x_n, p) \leq (1 + A_n) d(x_n, p)$$
(10)

Where $A_n = 2u_n + u_n^2$. Since by hypothesis of the theorem $\sum_{n=1}^{\infty} u_n < \infty$, it follows that $\sum_{n=1}^{\infty} A_n < \infty$. This gives

$$d(x_{n+1}, F(S,T)) \le (1+A_n) d(x_n, F(S,T))$$
(11)
Since by hypothesis $\sum_{n=1}^{\infty} A_n <\infty$ by Lemma 2.2 and $\liminf_{n\to\infty} d(x_n, F(S,T)) = 0$ or
 $\limsup_{n\to\infty} d(x_n, F(S,T)) = 0$ gives that
 $\lim_{n\to\infty} d(x_n, F(S,T)) = 0$ (12)

Now, we show that $\{x_n\}$ is a Cauchy sequence in K. With the help of inequality $1 + x \le e^x, x \ge 0$. For any integer m ≥ 1 , we have from (9) that

$$d(x_{n+m}, p) \leq (1 + A_{n+m-1},) d(x_{n+m-1}, p)$$

$$\leq e^{A_{n+m-1}} d(x_{n+m-1}, p)$$

$$\leq e^{A_{n+m-1}} e^{A_{n+m-2}} d(x_{n+m-2}, p)$$

$$\leq \cdots$$

$$\leq \left(e^{\sum_{k=n}^{n+m-1} A_k} \right) d(x_n, p)$$

$$\leq \left(e^{\sum_{n=1}^{\infty} A_n} \right) d(x_n, p)$$

$$= M d(x_n, p)$$
(13)

Where M= $e^{\sum_{n=1}^{\infty} A_n}$

Since $\lim_{n\to\infty} d(x_n, F(S,T))=0$, without loss of generality, we may assume that a subsequence $\{x_{nk}\}$ of $\{x_n\}$ and a sequence $\{p_{nk}\} \sqsubset F(S,T)$ such that $d(x_{nk}, p_{nk}) \to 0$ as $k \to \infty$. Then for any $\varepsilon > 0$ their exists $k_{\varepsilon} > 0$ such that

 $d(x_{nk}, p_{nk}) < \frac{\varepsilon}{2M} \text{ for all } k \ge k_{\varepsilon}$ For any $m \ge 1$ and for all $n \ge n_{k\varepsilon}$, by (13) and (14), we have (14)

$$d(x_{n+m}, x_n) \leq d(x_{n+m}, p_{nk}) + d(x_n, p_{nk})$$

$$\leq M d(x_{nk}, p_{nk}) + M d(x_{nk}, p_{nk})$$

$$= 2M d(x_{nk}, p_{nk})$$

$$< 2M \frac{\varepsilon}{2M} = \varepsilon$$
(15)

This proves that $\{x_n\}$ is a Cauchy sequence in K. Thus, the completeness of X implies that $\{x_n\}$ must be convergent. Assume that $\lim_{n \to \infty} x_n = q$. Since K is closed, therefore $q \in K$. Next, we show that $q \in F(S,T)$. Now $\lim_{n \to \infty} d(x_n, F(S,T)) = 0$ gives that $d(q, d(x_n, F(S,T))) = 0$. Since F(S,T) is closed, $q \in F(S,T)$. This completes the proof.

Theorem 3.2 Let K be a nonempty closed convex subset of a complete CAT(0) space X and let $S, T: K \to K$ be two uniformly asymptotic non expansive mapping with sequence $\{u_n\} \subset [0, \infty)$ such that $\sum_{n=1}^{\infty} u_n < \infty$. Suppose that $F(S, T) \neq \emptyset$. Let $\{x_n\}$ be defined by the iteration process (8). If *S* and *T* satisfy the following conditions:

(i) $\lim_{n \to \infty} d(x_n, Sx_n) = 0$ and $\lim_{n \to \infty} d(x_n, Tx_n) = 0$

(ii) If the sequence $\{z_n\}$ in K satisfies $\lim_{n \to \infty} d(z_n, sx_n) = 0$ and $\lim_{n \to \infty} d(z_n, Tz_n) = 0$, then $\lim_{n \to \infty} \inf d(z_n, F(S, T)) = 0$ or $\lim_{n \to \infty} \sup d(z_n, F(S, T)) = 0$.

Then the sequence $\{x_n\}$ converges strongly to a point of F(S, T).

Proof. It follows from the hypothesis that

$$\lim_{n\to\infty} d(x_n, Sx_n) = 0 \text{ and } \lim_{n\to\infty} d(x_n, Tx_n) = 0.$$

From (ii),

 $\operatorname{liminf}_{n\to\infty} d(x_n, F(S,T)) = 0 \text{ or } \operatorname{limsup}_{n\to\infty} d(x_n, F(S,T)) = 0$

Therefore the sequence $\{x_n\}$ must converges to a point of F(S,T) by theorem 3.1. This completes the proof.

Theorem 3.3 2 Let K be a nonempty closed convex subset of a complete CAT(0) space X and let $S, T: K \to K$ be two uniformly generalized asymptotic non expansive mapping with sequence $\{u_n\} \subset [0, \infty)$ such that $\sum_{n=1}^{\infty} u_n < \infty$. Suppose that $F(S, T) \neq \emptyset$. Let $\{x_n\}$ be defined by the iteration process (8). If either S or T is semicompact and $\lim_{n \to \infty} d(x_n, Sx_n) = 0$ or $\lim_{n \to \infty} d(x_n, Tx_n) = 0$, then the sequence $\{x_n\}$ converges strongly to a point of F(S, T).

Proof. Suppose T is semi-compact, there exists a subsequence $x_{nj} \to p \in k$. By hypothesis of the theorem $\lim_{n \to \infty} d(x_n, Tx_n) = 0$, we have $\lim_{n_i \to \infty} d(x_{n_j}, Tx_{n_j}) = 0$. Hence we have

$$d(p,Tp) \le d\left(p,x_{n_j}\right) + d\left(x_{n_j},Tx_{n_j}\right) + d\left(Tx_{n_j},Tp\right)$$
$$\le (1+A_n) d\left(p,x_{n_j}\right) + d\left(Tx_{n_j},Tp\right) \to 0$$

Thus $p \in F(S, T)$. By 14,

$$d(x_{n+1}, p) \le (1 + A_n) d(x_n, p)$$

Since by hypothesis $\sum_{n=1}^{\infty} A_n < \infty$, by Lemma 2.2, $\lim_{n \to \infty} d(x_n, p)$ exists and $x_{n_j} \to p \in F(S, T)$. This shows that $\{x_n\}$ converges strongly to a point of F(S, T). This completes the proof.

From the definition

A mapping $T: K \to K$, where K is a subset of a metric space (X, d), is said to satisfy Condition (A) if there exists a nondecreasing function $f: [0, \infty) \to [0, \infty)$ with f(0) = 0 and f(t) > 0 for all $t \in (0, \infty)$ such that $d(x, Tx) \ge f(d(x, F(T)))$ for all $x \in K$ where $d(x, F(T)) = inf\{d(x, p): p \in F(S, T) \neq \emptyset\}$.

We modify this definition for two mappings

Two mappings $S, T: K \to K$, where K is a subset of a metric space (X, d), is said to satisfy Condition (B) if there exists a nondecreasing function $f: [0, \infty) \to [0, \infty)$ with f(0) = 0 and f(t) > 0 all $t \in (0, \infty)$ such that $d(x, F(S, T)) = inf\{d(x, p): p \in F(S, T) \neq \emptyset\}$ and a_1 and a_2 are two nonnegative real numbers such that $a_1 + a_2 = 1$. It is to be noted that Condition (B) is weaker than compactness of the domain K

Condition (B) reduces to Condition (A) when S = T.

As an application of Theorem 3.1, we establish another strong convergence result employing Condition (B) as follows.

Theorem 3.4 Let K be a nonempty closed convex subset of a complete CAT(0) space X and let $S, T: K \to K$ be two uniformly generalized asymptotic non expansive mapping with sequence $\{u_n\} \subset [0, \infty)$ such that $\sum_{n=1}^{\infty} u_n < \infty$. Suppose that $F(S, T) \neq \emptyset$. Let $\{x_n\}$ be defined by the iteration process (8). Assume that $\lim_{n \to \infty} d(x_n, Sx_n) = 0$ and $\lim_{n \to \infty} d(x_n, Tx_n) = 0$. Let

S and T satisfy Condition (B), then the sequence $\{x_n\}$ converges strongly to a point of F(S,T).

Proof. Since by hypothesis (16) $\lim_{n \to \infty} d(x_n, Sx_n) = 0$ and $\lim_{n \to \infty} d(x_n, Tx_n) = 0$. From Condition (B) and (20), we get

 $\lim_{n \to \infty} d(x_n, F(S,T)) \le a_1$ $\lim_{n \to \infty} d(x_n, Sx_n) + a_2 \cdot \lim_{n \to \infty} d(x_n, Tx_n) = 0,$

i.e $\lim_{n\to\infty} d(x_n, F(S, T)) = 0$. Since $f: [0, \infty) \to [0, \infty)$ is a nondecreasing function satisfying f(0) = 0, and f(t) > 0 all $t \in (0, \infty)$, therefore we have

 $\lim_{n\to\infty} d(x_n, F(S,T)) = 0.$

Now all the conditions of Theorem 3.1 are satisfied, therefore by its conclusion $\{x_n\}$ converges strongly to a point of F(S,T) This completes the proof.

References:

[1] R.P. Agarwal, D. O'Regan, D.R. Sahu, Iterative construction of fixed points of nearly asymptotically nonexpansive mappings, J. Nonlinear Convex Anal. 8(1) (2007), 61-79.

[2] M.R. Bridson and A. Haefliger, Metric spaces of non-positive curvature, Vol. 319 of Grundlehren der Mathematischen Wissenschaften, Springer, Berlin, Germany, 1999.

[3] K. S. Brown, Buildings, Springer, New York, 1989.

[4] F. Bruhat and J. Tits, "Groups reductifs sur un corps local", Institut des Hautes Etudes Scientifiques. Publications Mathematiques, Vol. 41(1972), 5-251.

[5] C.E. Chidume, E.U. Ofoedu and H. Zegeye, Strong and weak convergence theorems for asymptotically nonexpansive mappings, Math. Anal. andAppl., 280(2003): 364-374

[6] S. Dhompongsa and B. Panyanak, On 4-convergence theorem in CAT(0) spaces, Comput. Math. Appl. 56(10)(2008), 2572-2579.

[7] J.B. Diaz, F.T. Metcalf, On the structure of the set of subsequential limit points of successive approximations, Bull. Amer. Math. Soc. 73(1967), 516-519.

[8] H. Fukhar-ud-din, S.H. Khan, Convergence of iterates with errors of asymptotically quasi-nonexpansive and applications, J. Math. Anal. Appl. 328(2007), 821-829

[9]K.Goebeland W.A. Kirk (1972). A fixed point theoem for asymptotically nonexpansive Mappinrs. *Poc. Amer. Math. Soc.*, *35*, 171-174.

[10] K. Goebel and S. Reich, Uniform convexity, Hyperbolic Geometry and Nonexpansive mappings, Dekker, New York, 1984

[11] S. Imnang and S. Suantai, Common fixed points of multi-step Noor iterations with errors for a finite family of generalized asymptotically quasi-nonexpansive mappings, Abstr. Appl. Anal. Vol. 2009, Article ID 728510, 14 pages, 2009.

[12] M. A. Khamsi and W. A. Kirk, An introduction to metric spaces and fixed point theory, Pure Appl. Math, Wiley-Interscience, New York, NY, USA, 2001.

[13] S.H. Khan and M. Abbas, Strong and 4-convergence of some iterative schemes in CAT(0) spaces, Comput. Math. Appl. Vol. 61(1)(2011), 109-116.

[14] A.R. Khan, M.A. Khamsi and H. Fukhar-ud-din, Strong convergence of a general iteration scheme in CAT(0) spaces, Nonlinear Anal.: Theory, Method and Applications,

scheme in CAT(0) spaces, Nonlinear Anal.: Theory, Method and Applications Vol. 74(3)(2011), 783-791.

[15] W.A. Kirk, Geodesic geometry and fixed point theory, in Seminar of Mathematical Analysis (Malaga/Seville, 2002/2003), Vol. 64 of Coleccion Abierta, 195-225, University of Seville Secretary of Publications, Seville, Spain, 2003.

[16] W.A. Kirk, Geodesic geometry and fixed point theory II, in International Conference on Fixed point Theory and Applications, 113-142, Yokohama Publishers, Yokohama, Japan, 2004.

[17]B. Nanjaras and B. Panyanak, Demiclosedness principle for asymptotically nonexpansive mappings in CAT(0) spaces, submitted for publication.

[18] Y. Niwongsa and B. Panyanak, Noor iterations for asymptotically nonexpansive mappings in CAT(0) spaces, Int. J. Math. Anal. Vol. 4(13)(2010), 645-656.

[19] A. Sahin, M. Basarir, On the strong convergence of a modified S-iteration process for asymptotically quasi-nonexpansive mapping in CAT(0) space, Fixed Point Theory Appl. (2013), 2013:12.

[20] J. Schu, Weak and strong convergence to fixed points of asymptotically nonexpansive mappings, Bull. Austral. Math. Soc. 43(1)(1991), 153-159.

[21] K.K. Tan and H.K. Xu, Approximating fixed points of nonexpansive mappings by the Ishikawa iteration process, J. Math. Anal. Appl. 178(1993), 301-308.

[22] K.K. Tan and H.K. Xu, Fixed point iteration processes for asymptotically nonexpansive mappings, Proc. Amer. Math. Soc. 122(1994), 733-739.

The IISTE is a pioneer in the Open-Access hosting service and academic event management. The aim of the firm is Accelerating Global Knowledge Sharing.

More information about the firm can be found on the homepage: <u>http://www.iiste.org</u>

CALL FOR JOURNAL PAPERS

There are more than 30 peer-reviewed academic journals hosted under the hosting platform.

Prospective authors of journals can find the submission instruction on the following page: <u>http://www.iiste.org/journals/</u> All the journals articles are available online to the readers all over the world without financial, legal, or technical barriers other than those inseparable from gaining access to the internet itself. Paper version of the journals is also available upon request of readers and authors.

MORE RESOURCES

Book publication information: http://www.iiste.org/book/

Academic conference: http://www.iiste.org/conference/upcoming-conferences-call-for-paper/

IISTE Knowledge Sharing Partners

EBSCO, Index Copernicus, Ulrich's Periodicals Directory, JournalTOCS, PKP Open Archives Harvester, Bielefeld Academic Search Engine, Elektronische Zeitschriftenbibliothek EZB, Open J-Gate, OCLC WorldCat, Universe Digtial Library, NewJour, Google Scholar

